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Godavari Talent Test VIII Class Maths

1.

A)9600m? B) 10800m?

Ifthe diagonals of a rhombus are 112 cm and 66, then the
length of each side .. cm a.8 Troa% gheen 112 0.8 LB
66 0.5 @ond Tl gHadm PES) ... 0.8, ( )
A) 54 B) 36 C) 65 D) 42

A Salesman sold two pipes at Rs.15 each. If his profit on one
was 25% and the loss on the other was 25% , then on whole

he a8 $8E Botd 2HOD e 15 B, TP @é)érw
28 @R 25% ergfin Ho8aiw Bokd weld 25%;6%@:533 SN

FoBK0 & ©BI8 HIB. ( )
A) gain 2 Rs ergfdo B) Lost 2 Rs §gsw
C) gain 3Rs ergsdm D) Lost 3Rs &gso
X+1 x-1
If A= —andzéaﬁdﬁ»BZ—thene-soaaéA Bis ( )
-1 X+1
A 2(x* +1) 5 4x
) X2 -1 ) x* -1
C X D)N f'th
) 1 ) None of these
If 4x+ 3y =18xy and $08c» 2X— 5y + 4xy = Othenwanad the
values of X and Y Deoden ( )

1 1
A) 2 and 85w =

5 B) 3 and $:805» 2

1 1
C) 2 and 3 0805 D) > and o8

3

If the perimeter of a rectangular field is 440 metres and its
length is eight thirds of its breadth, then the area of the field is
28 ésézﬁeéazs@osoas Podn DHipEod 440 . TR FEH
Béenojzééa DAoL Korddd Béoa 008 TR Beegsm = .. ( )

C) 7200m> D) 8400m?

1
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10.

11.

12.

If X=1++/2 and y=1—+/2 then X2+ y?is .. ( )
A) 0 B) 6 C) 3 D) 2
Area of the figure ABCDEF ¢ 5?&05&333 cm ( )
A)12em B) 18 e Al

E
C)15ecm?> D) 9cm? E jc

A train 1.2 km long running at 90 kmph crossgscgll .8 km long
bridge in .. min 1.2 8.8». &r&D Ko Ben 90 88 Ko SiSns®
(B0 1.8 8.80. FED Ko DG ... 1,8 wrensd ( )
A) 2 B)3 O1 D)5

The sum of the three numbers is 98. The ratio of the first to

the second is 2/3 and the ratio of the second to the third is 5/8.

The second number is ... 5ot Hogge IwBo 98.Fsed BoKks
dore QG 2/350805%0 Botd, e Hwre Y 5/8 eond

BoEs oy ( )
A)49 B) 28 C) 48 D) 30

If 9*2 = 240+ 9%, then the value of Xis..... ( )
92 = 240+ 9" @B X Den......

A) 0.1 B)0.2 ) 0.5 D) 0.4

The Altitude of an isoscels triangle is 8cm, and the

perimeter is 32cm. The area of the triangle is ..... cm? ( )

2.8 DB (Bghadn GwE) ¢)® 8 0.8 T

DepSod 32 20.8. eowd (Behes SBTOgW . 0.0%

A) 48 B) 56 C)32 D) 24

If 78 is divided into three parts which are proportional

to 1, 1/3, 1/6 the middle part is ( )

78 % S grereenre 1, 1/3, 1/6 © wdarsos®
3)2;5&':5_00 3636?3 EALS VT I



Godavari Talent Test VIII Class Maths Godavari Talent Test VIII Class Maths

1 1 1 1 A)2 B)4 0)-2 D)-4
A) 95 B) 175 @) 185 D) 125 19. The shaded regionin the given figureis B ( )
S He506° HE Sahnds ki . o
a“+b°—-c“+2ab
13. = AA-B-C B) Au(BNnC
C) An(B-C) D) A-(BuO)
a—-b+c a+b-c a—-b-c a+b+c A
A) B) O) D)
a+b-c a-b+c a+b-c a+b-c 20. The angle formed by the hands of clock at 2 :15 ( )
14. The measurement of each angle of a polygon is 160°. KBASREEnE® 2 115 BHohBsE Sneged D8 Swo
The number of sides it has e.8 250308 S0tk &8 %0 1 1 1 : 1
Dend 160" wond a&% ghere Soayg ( ) A)22 > B)27 > O 1575 D)48 >
A) 8 B) 16 ) 18 D) 24
15. In the diagram CE is parallel to AD measures of 21. If 3:5=4.5: X, thenonss X=5 =7 ( )
oftwo angles at B and C have beeb indicated. E D A) 715 B)4.5 O D)25
Then ZDAB is equal to @éé 5e30°CE 208050 70 /F B 2. If n*= 2744, thenwons n?-11=........ ( )
C
AD en $5m088 Tpen. B 835 C Bl gearen A A)144 B) 196 C) 185 D) 195
BORS /DAB...... & D&dEn C ) 23. 31512x 349000 = -.--- C )
A) 300 B) 40° C) 60° D) 350 A) 396 B) 420 C) 640 D) 580

24. 25% of X isequaltohalfof40% of y.Then X: y  ( )

16. The value of /900 ++/0.09 —~/0.000009 isQes ()
X & 25% Y& 40% &° S8 $srdsn ewonsd X @ Y=

A)30.197  B)30.397 C)30.297 D)30.303

17. If 12 menor 15 women can reap a field in 44days, then A)4:5 B)2:1 ©)3:4 D)8:5
number of days that 8 men and 12 women take to reap 25. What percent of 1 s 3 2 ( )
the given fieldwouldbe ... 2.8 oo 12 Hod 5 25
Hosoen Soe 15 od @@o 44 SPeros® SBaind. 08 FEE E i & S0 ©HE0B ?
8 008 Hrhzven DB 12 Fob Geo 0% A 5 25 '
Sarere® S5%0tHts ( ) A) 60% B) 30%  C) 40% D) 75%
A)20 B)30 C) 32 D) 24 26. If n(A)=40,n (B) =25 and $8c%» n( A uB) =60,
18. If a+b+c=0, then the vulue of M = ) o thenn (A AB)= ( )
(bc+ca+ ab) A) 65 B)5 C) 45 D) 55
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27. (4x* — 2x+1) is a factor of .....&wE) s°Bearo85w ( )
A)4x*-1 B)4ax’+1 (C)8x*-1 D)8x*+1
28. If ab =5, thenwond (a+b)*—(a—b)*=........ ( )
A) 15 B) 10 C) 20 D) 30
29 8.47x8.47-1.53x1.53
. 6.94 = e ( )
A) 1 B) 10 C) 847 D) 694
30. The angles of atriangle are intheratio1:1:2.1ts

31.

32.

33.

34.

sides will be in the ratio of =... 2.8 (B2He508%0 Soeqren
1:1:208)8¢° Ho8 Seren ... JBS® Hotraw. ( )

A)1:1:42 B)1:4/3:4/2C)1:1:4/3 D)1:2:4/3

The area of the inner circle of aring is 1386 cm?. If the width of
the ring is 7 cm, the area of the outer circle is ...cm?( )

2.8 o880 @n¥) %59 Saregin 1386 20.80° TR Ieken)
7 20.80 ©wowd SoBmo adhe Frego = 0.8

A)2772  B)4851 C)9702 D) 2464

In the diagram, CE//AB, Then ZACB = ... ( )
(58 H008° CE//AB, wand LACB = ... A

A) 65° B) 95 60 E
C) 75° D) 45° B 55

In AABC, /A= 60°, /B = 42°, then greatest side
ofthe AABC is ........ (Bghessin AABC &8
ZA=60°, /B = 45" o8 AABC &° 255 goesimn ( )
A)BC B)AC C) AB  D)None

ABCD is arhombus. If /ACB =50° then /ADB=.....
ABCD 2.8 558ty ZACB = 50°,

©onsd LADB =----- ( )
A) 60° B) 50° C)130° D) 145°
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35.

36.

37.

38.

39.

40.

41.

42.

The difference between C.Iand S.]. on a certain sum of
money is Rs 10 for 2 years at 12 5 % pia. the sum ( )
&08 &y P 2 dosgyore serdd 12 5 % 000 SESG
5805 erhsde o 10 Srardden @and e 5 ...

A) Rs400 B) Rs480 C)Rs1040 D)Rs 640

1 1
Ifx+;=\/§then@@a€§x2+?= ...... ( )

A) 23 B) 3 C) 28 D) 22
Slope of a line of 2x+ 3y = 585% B aven .. ( )
-2 2 -3
A 5 B3 ¢ 5 D
X -intercept of line of y=nMX+cC....... ( )
Y = MX+ CX8% B BwE) X - @oddpotio
Cc —C

A) m B) ¢ 0) m D)-c

Numnber of twin primes between 1 and 100 ( )
1 $8c%w 100 o e (H5ed Sogge Koz ©ond

A)12 B)8 )6 D) 16

If 3/n =8 thenowond 2000—3n=....... ( )

A) 464 B) 564 C) 784 D) 676
The rear view mirror used in a car is ( )

T @RI J0EHT) B B @wse;ess TC B0 ...
A) Concave Herses B)Convex %ogrsed
C)Plane <SSode D) Cylindrical &roarse8
Value of the temperature 113° F in Celsius scale  ( )
113° F 20058 ?So&e»@'s o Dend
A)  30° B) 35° C) 60° D)45°

6
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43. The temperature of Oxy-hydrogen torch ( )
@é&—?@&% o0t ePNS
A) 2400° B) 3600° C) 6400° D) 2000°
44. The substance that burns in oxygen with a dazzling

45.

46.

47.

48.

49.

50.

light e98)esS $55050S® 0Bo0en FPensHET LroE Srrgo( )
A)Cu B) Mg C) Ag D)Hg

The English name of Tulais..... ( )
o GoE) BOALD DD ...

A) Leo & B) Cancersx)5

C) Virgo & D) Libra ®»

H,O,means ....w0&. ( )

A) Hydroxide 3@ )& B) water molicule ¢ ee:d
C)water gas ¢ araiwsd D) hydrogen peroxide 3rerassaos )&

The colour of Copper sulphate is .... ( )
£52:419) ééo)és Boidd

A) Blue oo B) Orange es8o&

C) Red 285 D) Yellow 0%

Water gas mainly consists of 83 arcios) 80AHRS.  ( )

A)H,+0, B)H,+CO, C)H,+CO D)H,+N,
Formula of Sugar is <S8 ardyee ( )
A)HSO,0, B)CH O, C)CH, D) C_H,.O

5771075 127722 711

The gas that possesses the smell of rotten eggs ( )
O %’S&@égo VSIS 53!3 POS0.

A) Hydrogen chloride 3r(ereSsi88

B) Hydrogen sulphide graeeS886

C) Ammonia eZ005e D) Carbondioxide s2)5g8e8 &
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Liberated Carbon dioxide is in grams when 25 grams of calcium
carbonate is heated. 25 ((réwe s2@aho seEHJen SEBRBHED
DBy SRS E ... . (reSo0en ( )
A)11 B)22 C) 16 D)9

...grams of oxygen reacting with 480 grams of magnesium.

480 (rdwo DAHRDHOE.. ([riwe @) $BgeetosdE0B. ( )

A) 160 B)320 C) 480 D) 120
Molecular weight of Na CO, Gw¥) eeagrto ( )
A) 96 B) 104 C) 106 D) 108

54. Formula of permanganate radical ( )
_“oacfgoﬁﬁéw or&ES @“63&@5"

A)HCO; B) CIO; C)MnO, D) Cr,0;
Latin name of Tungstun is 0558, er@8 oo ( )

A) Stanum F55
C) Stibium 385

B) Plumbum $oa&
D) Wolfrom  $*SH&

Number of satellites present in Saturn. ( )
B (1588 Ko &SP Sogy

A)30 B) 18 C) 16 D) 14

Halley comet appears for every ... years ( )
w® DY) .. FodEBE0OEEID EIBK08.

A) 67 B) 76 C)78 D) 87

Density of Mercury is ar&850 Jro(&es ( )
A)13.6 B)1 C) 13.6 gm/cc D) 13.6kg/cm
A vertically projected body travels with ( )

Qe 28 DVBD DD ... & HArBoH.
A)retardation aeagiiteso B) acceleration &eso

C) uniform velocity 05a%o D) unifrom speed 85058

A force of 10N is applied on a body of mass 500 grams at
rest,the acceleration acquired by the body.

Do 1BS® 6520 Sdo (X8 Ko H:HHP 100 N © 2o
DD, @ FHS® DD BBeasn ( )

8
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A)5m/sec? /7
C) 15 m/sec? &/3?

B) 10 m/sec? &/3?
D)20m/sec®> &/3°

61. Astone weights 25 grams in air and 20 grams in water. Relative
density of stone is O teom 2%5H25 ([rswen HoBosH He3S’
oo 28 20 [PEwen @ Trow F REFoSS ( )
A)10 B)5 C) 15 D) 12

62. Hydralic machines workd under the principle of ( )
PEeOE aho(gn HQB0%0 $oo(BH0
A) Boyle's Law oS A
B) Archimedis law SB)DES Kre(Bw
C) Bernouli's law BOND Koe(B5w
D) Pascal's law FHS Ao

63. Temperature in Celsius scale is 25°C, then temperature in
Fahrenheit scale is ..... 208 @ pens® adfis 25°C,
8885 oo’ SEPERS ... ( )
A) 71°F B) 87°F C) 57°F D) 47°F

64. Ifthe radius of curvature of concave mirror is 30 cm,
its Focal length is.....cm H¢rs8 &80 @) SEae
Fgrgo 30 200.8b. ©wand TR TegKosso ( )
A) 60 B) 10 C) 15 D) 20

65. E.M.F. of Bichromate cell is ..... ( )
BIEDHE oo GwE) E.MLF. Denid
A) 1.57 B)2 ) 1.5 D)2.5

66. ICRISAT is located at 5830¢5 Ko (Frossn ( )
A) Delhi &9 B) Manilla  [2oRer
C) Pune %73 D) Hyderabad 3r&oeert

66. Doctor of first century AD in India who described plannts

and animlas %03 S¥o&® .4.3056 $5°908® FnFen HO
20w KHB0Y KBNS St ( )

9
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A) Sushruta  HiH&He  B) Charaka  $8%:¢&
C) Dhanwnatari 5086 D) kautilyudu S*&engtd

67. Mumps is caused by K558ge 56 HASY H:od  ( )
A)Bacteria  er§ocire B) Virus  35%
C)Insect  &erseen D) Monira S8o°

68. Byprducts of fermentation eagdaim Ko edesd)So ( )
A) CO, B) Energy 48
C)Alcohal  eepsd D) All edyy

69. Triple Antigen contains vaccine against ( )

70.

71.

72.

73.

(BS woBaS HIN I5°BoserIsH) Sso oot

A)Pertusis 5D B) Tetanus &e3%

C) Diphtheria &85~ D) All ey

Ethylene dibromide is used for the control of ( )
5398 ZE°HE D3R AB°Q0SErI8 IITPAE

A) Rats dengen B) Catsepen

C) Dogs &%e» D) Insects &¢seen

'Father of biology'is ....£57°g zesosob. ... ( )
A) Plato 5¢° B) Khoranag&tze

C) Ross &% D) AristotlewtrS

'Wizard of wonder drugs'..eotin® 28¢5 )R8 Sool&rmeed ( )
A)Y. Subbaraog. oeoesy B) Khorana 98w

C)C.V.Raman®.. o8 D) Dhanvantari o6

One of the following is not a correct pair. ( )
BodaeS® $BeonS 238 500

A) Annelida - leeches OO - 2ol

B) Nematode - tapeworms Q0¢s*E - g HBD

C) Arthropoda - scorpions  e@&z - dew

D) Echinodermata - starfishes ~ 98&° GO - $km(& $g(Eo

10



Godavari Talent Test VIII Class Maths
74. Rats spread disease likedenSen a8 Dasw =58 ( )
A) Malaria $8805%» B) Tuberculosis oo
C) Filaria 28805 D) Plague 2%

75.

76.

77.

78.

79.

80.

81.

Rearing of silkworms is called ( )
B’Jéoaea DBIDHeD DOHEN))... OB

A) Olericulturee.86 $e)6
C) Apiculture 288

B) Sericuture 2885
D) Silkculture 2&8enG

Hybrid of a male horse and female donkey is ( )
LRIDEEAE, SEMPESE S HoBBerd JoT°TX))...... @0trdd
A) Henny 2wy B) Mule &g

C) Murra s»(oe D) ongolu e.offe»

Sientific name of Groundnut .....3%855sg0d T ( )

A) Elusis gynasis seR 3% B) Sisamum indicum 2=r58 @085
C) Arakis Hypozea ©T°8R BRI

D) Bracika type plants [eRse 880 JoHen

The ratio of Rods to cones is ......8%e, Sowre 358  ( )
A)1:15 B)14:1 C) 16:2 D)15:1
Itchmite (scabies) belonged to .. ( )
K 555e5 O SR8 Bokd

A)Arthropoda @&*%z>  B) Protozoa @8¢° &'

C)Annelida 229 D) Porifera &t830°

One of the following pair is not correct ( )
BodTEIE® KBS 238 518

A) Cobra - Naja naja (Brew PS — Teer TeeP

B) Russells viper - Vipera russelli 8& &rsn - 306 539

C) Krait - Echis carinata (B&5- 08 o0y

D) Sea snake - Enhydrina D0 TS0 — ARG

The speed of the earth's Movement is ..... km/hr ( )
gm(gsoee S0 Kot ... 8S8 ety
A) 1680 B)1160 C) 1610 D) 1780

11
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82.

83.

84.

85.

85.

86.

87.

Greenwich is in .[AQS Bgrodsn & 85w Kome ¥&0d. ( )

A) Moscow 88, B) New York  &5058)

C) Paris 3509 D) London ©0%S

The heihest peak in the Antarctica...... ( )
@o@@&éﬂ@ PoZoStD & B Bpdo ..

A) Mount Vostok - SJE BpBo

B) Mount Vinson Massif DS SRS BpBo

C) Mount matri B BpBo

D) Mount Dakshin Gangotri &g $ofi¥(@

Nizamsagar Project is across the river ( )
Deworib (@ras§ ... I8 D aHo.

A) Munneru $3)% B) Manjeera Soodoe
C)Musi SR D) Thungabhadra &ox5&(es
Uranium deposits are in the district of ... ( )

E0BIADo Jgaren & Bers® dayow.

A)Nalgonda NIGiel B) Medak DEE
C)Khammam 0 D) Srikakulam &se%%0

Mats are woven at ... ( )
DBPHen ond)E S BDEE0m.

A)Cuddapah  8&5 B) Macilipatnam £095¢0
C)Kakinada =8z D) Mahaboobnagarsvsresd $i%6

Andhra Pradesh occupies ... place in the country's population
gPB8RE wrers® woBHRS ... 5 o eEdodod.  ( )
A)2nd B) 3rd C) 5th D) 4th

Saint George Fortisin ...20& e 8% aniieo aswod  ( )
A) Madras $(@ed»
C) Calcutta So¥ee

B) Nagapur =508
D) Bombay &=

12
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88. The National Holiday in France is ( )
@°S® erdcdH P Bo.

89.

90.

91.

92.

92.

93.

94.

A)22ndJuly  e~8 B) 5th Septembera 3026

C) 14th June e&~3 D) 14th July =8

The railways were introduced ing&e» BaFg0858 ( )
A) & 5. 1853 A.D. B)§& %.1857A.D.

C) & %1826 A.D. D)&. 5. 1878 A.D.

The Governor General who introduced English in India was
Ve I L {OToN 01§ DD @3%33%26 BSGE 23885 ( )
A) Warren Hastings ~ 5883rg0R)

B) William Bentiinck 29cho @ooh

C) Dalhousie &SR

C) Canning s oh

Burma got freedom in exo3% Sxgolgso ©8oRob. ( )
A) 1942 B) 1946 C) 1947 D) 1948

The first Viceroy of India was ( )

FPESTEH IwQI0ES JlEow.

A) Rippon B8N B) Canning s*Q)0h

C) Dufferin &S D) Curzon  &§8
Fundamental duties are added to our counstitution through the
amendment act of (FPEE Dehen .. & ToaroridHbes S$¢0 TxRoe

K0 TremgorEns® T &I ( )
A)38th B) 44th C)42nd D) 48th

The Russian Socialist Revolution happened in .. ( )
6?’.355 Sb’séé)"@w DHH0 2BAH.

A) 1910 B) 1916 C) 1917 D) 1920

The Chairman of the National Development Council is ( )
PBATDH H08D B,

A) The Speaker 856 B) The Vice President o558

C) The President oogs@ D) The Prime Minister xrdso0@

13
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95. The Diwan of Akbar was ©%)6 658 (
A) Rana Shekawath o B°DE
B) Raja Todarmall oo &EE5S
C) RajaMan Singh PP 2oh
D) Rana Pratap Singh oS doh

96. Air India was started by (
Dond KoRA5Pd (FPEooDKE.
A) Vikram Birla 9g& &2 B) C.P. Patel 2.%. &S
C) A. Kapoor .85r8 D)J.R.D. Tata. 8.«5.&. ¢rer
97. Supply curveis Hgom T (
A) Perpendicular to Y - axis Y - ©95°08 eomore ¢otood.
B) Parallel to X - axis X - e9gpd8 $krodBorne €otnob.
C) Goes from left to right &0 Hr0d HAES FO&0E0s.

D) Parallel to Y - axis Y - e9gel8 SkmwodBone eotnob.
98. Rabindranath Tagore was awarded the Nobel Prize in (
BDoEaeE TrrbH FBS aiund HN)P H0BB)BEL0

A) 1912 B) 1913 C) 1910 D)1920
99. The leader of Alighar movement was (

D8 SEgET GO
A) Sayyed Ahmed Khan $6i58 i8558
B) Abdul Lateef S 0d% G
C) Shariyatulla NBhHBeP
D) Mohammed Sidullah 5528 2eber
100.The State famous for Indigo production (
DBk 6588 'a‘;oq?o:‘i)?é o°go
A) Bombay &Poerom B) Bihar %5
C) Madya Pradesh 55536 D) Madras (@

14



